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1. Compute the remainder of the following division: 1068÷ 8.

[a] 4 [b] 5
[e] not in the list

[c] 6 [d] 1

2. Determine the number of primes lying between 7 and 32, end-points included.

[a] 6 [b] 7
[e] not in the list

[c] 8 [d] 9

3. Compute the greatest common divisor of 62 and 60.

[a] 4 [b] 6
[e] not in the list

[c] 12 [d] 180

4. Determine the least common multiple of 24 and 21.

[a] 42 [b] 168
[e] not in the list

[c] 176 [d] 180

5. Determine the integer part of
2011

9
.

[a] 222 [b] 233
[e] not in the list

[c] 224 [d] 223
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6. How many of the following equalities are correct:

2.4 =
120
5

, 0.004 =
1

250
, 1.217 =

121.7
1000

, 0.125 =
11
88

?

[a] 1 [b] 2
[e] not in the list

[c] 3 [d] 4

7. Evaluate (
−52

6

)2

÷ −100
32

.

[a] −25
16

[b]
5
4

[e] not in the list

[c]
25
16

[d] −25
36

8. Evaluate [
3
12

+
1
2

+
1
10
− 2

5

]
× 3

7
.

[a]
3
20

[b]
8
35

[e] not in the list

[c]
4
70

[d]
27
140

9. Simplify
√

4500 to the form a
√

b where b is square-free.

[a] 50
√

9 [b] 20
√

5
[e] not in the list

[c] 30
√

5 [d] 50
√

3
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10. Simplify, eliminating radicals at denominator,
√

3
2
−

√
16
3

+
1√
48

.

[a]
3
√

3
4

[b]
−3
√

3
4

[e] not in the list

[c]
−5
√

3
6

[d]
5
√

3
6

11. Place the following numbers in ascending order:

a = 35.2× 10−1 , b = 0.00351× 103 , c = 3051× 10−2 , d = 30.051.

[a] a < b < c < d [b] b < a < c < d

[c] a < b < d < c [d] b < a < d < c

[e] not in the list

12. Determine the largest power of 10 smaller than

35999
6

× 100
6001

.

[a] 101 [b] 102

[e] not in the list
[c] 103 [d] 104

13. Estimate

x =
20

5× 10−1
× 1.1001× 104

8
.

[a] 4× 104 < x < 5× 104 [b] 5× 105 < x < 5.5× 105

[e] not in the list
[c] 5.5× 105 < x < 6× 105 [d] 5× 104 < x < 6× 104
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14. When 4ab2 − 36a is factored completely, which of the following is one of the
factors?

[a] b2 − 9 [b] b− 3
[e] not in the list

[c] 36 [d] b2 − 9a

15. When 2x3 + yx2 + 2x + y is factored completely, which of the following is one
of the factors?

[a] x2 − 1 [b] x2 + y
[e] not in the list

[c] 2x + 1 [d] 2 + y

16. Compute the quotient of the following division:

(x3 + 3x + 9) ÷ (x + 1) .

[a] x2 − x + 2 [b] x2 + x− 4
[e] not in the list

[c] x2 + x− 2 [d] x2 − x + 4

17. Compute the remainder of the following division:

(y3 + 2y2 − 4y − 1)÷ (y2 + 1) .

[a] −5y − 3 [b] −3y − 3
[e] not in the list

[c] −5y + 1 [d] −4y − 1

18. Simplify
3y

y2 + 4 + 4y
− y + 1

2 + y
.

[a]
2− y2

(y + 2)2
[b]

−y2 − 2y

(2 + y)2
[e] not in the list

[c] − y2 + 2
(y + 2)2

[d]
−y2 + 2
(y + 2)
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19. Simplify (
−k2l3m

ml

)4

÷ km2.

[a]
k4l8

m
[b]

k8l8

m2

[e] not in the list

[c] −k8l12m3

km2l
[d]

k4l11

m2

20. Compute f(−3), where

f(x) =
2x2 + x3 + 1

x2 − 1
.

[a] −1 [b] 1
[e] not in the list

[c] −9
8

[d]
47
8

21. Compute h(−2/s), where

h(x) =
−x

x2 − 2x + 1
.

[a]
−2s

s2 − 4s− 4
[b]

−s

s2 − 2s + 1
[e] not in the list

[c]
2s

s2 − 2s + 1
[d]

−2s

−4s2 + 4s + 1
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22. Solve
x

3
>

2 + x

2
.

[a] x < 6 [b] x > 6
[e] not in the list

[c] x < −6 [d] x > −6

23. Solve for x and y

y + 3x = −1, 2x = 39 + 5y .

[a] x = 1, y = −4 [b] x = −2, y = 5

[c] x = 2, y = −7 [d] x = −2, y = 7

[e] not in the list

24. Solve
3 + x = 2x2 .

[a] x = −3
2
, x = −1 [b] x =

3
2
, x = −1

[c] x = −3
2
, x = 1 [d] x =

3
2
, x = 1

[e] not in the list

25. Solve
x2 + 2x− 5 = 0 .

[a] x = −1±
√

6 [b] x = −2±
√

12

[c] x = −1±
√

5 [d] x = −2±
√

24

[e] not in the list

End of Paper
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